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GENERAL ENGLISH

Direction for question nos. | to 5 ¢ - .
In the following passuge, there are blanks, each of which has been numbered, Against each, four waris
suggesied, one of which fits the blank appropriately. Find out the appropriate word in each case.

Apple is generally regarded as afan ... 1., _
garage. For years it gave tough competition to M ferosoft, Then it .. 4.

by shifting its focus [rom computers to mobile devices. Steve Jobs was

engineering and design
() representation B)) roquiremient

__.-:.,{ A) sample B} piece
C) upgraded _D)innovative

2. A} ncw H) rencwed
A D) None of the above

B} out of ) on

3.y
) broke m]mﬁ

5: A} undoubtedly B) surprisingly C) :-:Trmml:]}- D) shockingly

Direction for guestion nos. 6 to 10 : i
In the following questions, two sentences are given. There may be an error in the sentence(s). Mark your

0. I I used to havea car but I sold it last year,
Il 2ew-ean't make me to go with you .
A} If there is an ermor only in the first sentence Bjlfthere is an ermorcabe 1o hyiecyd cate e
C) If there are errors in both the sentences 1) If there is no erro M situes of (hs Do SboClGe.

7. #.k She is waiting here for you since 7 p.m.
25" ¢ L He and | are enemies.
_ A) If there is an error only in the first senlence <87 If there is an error only in the second sentence
" C) If there are errors in both the sentences D) If there is no error in either of the two senlences

‘J. [ did not know that he can be able to swim like tha.
"Il Having passed the M.B_A examination he jomed a reputed company.
B) If there is an error only in the second sentence

-] If there is an error only in the first sentence 3) 1 . et
D) If there is no error in either of the two sentences

) I there are errors in both the sentences

e usinally buy twnmpumwcry'.? ;
I Qur friends come to see us every Friday,
error only in the first sentence

of everything that is best about . 2. business 1t wasstarted .. 3. &
itself and the entire entertainment industry,
...5... a genius who understood both
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are
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.
e
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A) people discontinue
B) India does ™ )

3l P e anl
yailable @

1 anti-TH drugs are 2
D) people do not have pulrilious food

of TH 18 -.l|-.m-||ru'r..'4.-d et
Jovw 1y

When Lhe {reatmeti
r_'|I1lL'.,1f
nus [ofm
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gilver medallist pv Sindhu and Bro ..; 'y

D) VVS Laxman X A

Rio Olympics

Tendulkar

Name the cricket player who gifted BMW cars to

Sakshi Malik.
A) Rahul Dravid

bachin
B) Saurav Ganguly ach

T b I|l NJ
vices marketplace Zimmbe

*ECII p[ﬂlﬁ"”“ ucquil‘(}d home ser L] Tiios L]ﬂﬂﬁlﬁ

ich online class

“A) Ouikr B) Olx )
Thg filament of electric bulb is made of P T ,@anm v
opper B) Aluminum C) Le WSS
" i
¢ is the unit for measuring the amplitude of @ sound? T
ibel B) Coulomb C) Newton i .'.*Il-. ]
| -
45. Which of the following isp@ightest metal? e .
A) Mercury @ ithium C) Lead D) Silver
46. With which sport is Ballon d’Or Award associated? - TR
A) Basketball B) Hockey @ potball D) Golf
1. 1)
47. A) hﬂmng of which organ causes jaundice? - .
Stomach B) Pancreas C) Kidney D) W

] Cash Crcdil.‘ .Rat o

Joge
C) Liquidity Adjuﬁilmt:m Faciliw 4 ’l%f n': 1&?: T ]j‘f*- (:] ryz::flh {
3 A 1S hytal i o e

49 / O ollowing foods |
one is tlie best suum: of prot ™
o o s g sty LA

D) Milk 3

i tums-indimammhmﬂnmumdbycnmmemialhauk@{bmﬁdomtw% Sovesaini

j 50. Who m'ten;:rd the Electric Motor? o . ot 4
e2X -
Jexatie Geakam el B) Thomas Alva Edison sy I
: D) Wright Brothers N 2!
5 . it i

cstady of fossils is knows as?
A) Metallurgy B) Acoustics G}'.Cmnlngy

Blrd’ Deuce, Double, Drop, Let, Love all,
] nton Bj'rmu |{‘ - ."'




ao, Whichis of followlng s riverside oity?
A) Apin Jaipw ) Londeon

g7, L’ i the curraney of whigh of the following countrios?

A) Franoe 1) Germany € Greece /’(}Ml of thie abov K

Ss& Who i the author 6F the book “Pride and Prejudice’? .
;’ \L v ) Vane Adsten 1) Jeffrey Archer ) Nelson Mandela D) Wi ,

59, Who amongst the following personnlities was a famous painter?

\) Louis Pasteur B) Pablo Kacobar C) Aristotle D) Pablo Picasso
60,  Who is often referred to an father of India’s “Green Revolution™7? ) .
v { AYMO S Swaminathan  B) Dr, Verghese Kurien  ©) Dr, Amrit Patel D}MM ’
#1.  “Carolinga Marin® is a spo on associated with which sport? :
A) Table Tennis @dminm:l C) Squash D) Tennis
62.  Which state became the first in India to ban smokeless tobaceo?
A) Bibar B) Goa C) Kerala I@m
63. Mobile messaging appligation, Whatsapp, was bought by which company?
A) Google @5 Facebook C) Twitter D) Yahoo ’

. A .I'“ is the Chiel Executive Officer (CEO) of Amazon?
G}Puﬁ Bezos B) Larry Page C) Elon Musk D) Bill Gates

- E ‘ u‘. , ‘
e e s Y e b
e FAUNAderJdyotl. R AT .
" A) Hidden Figures AL TUC é,%& i ‘ /Y Mooalight' T
66. Who is the Chief Minister of Telangana? 9
! , };;i:iilar;maiah : Shivraj Singh Chouhan g
Devendra Fadnavis / . Chandrashekar Rao -
)
67. hich leader attended Indian Republic Day as the Chief Guest in 20177
A) Shinzo Abe g)_flgs;qm_w
®1uhnmmcd bin Zayed Al Nahyan ) Xi Jinping
68. Who won the first ever “Genderless hf:ling Awi MT; Movie & WMH;}? il 1
A) Angelina Jolie B) Tom Cruise atson D) Hugh o i
naot ﬂmm&d Wilh lhe - - " _An, & l'__\_‘._.
B) WHO %ﬂw g L of the above

£



e with which smw? |
ip gsam ."

" W 4 folk danc® o 088 N{ < iput
L Meghalay® H?
werld Cps 200 67
T]r 1\‘ l'lﬂ “I.In [h Lﬂhﬂlldl w
O pppakisan Cﬂﬂ ndia ©) England
-4 J Kaven ol Aiver o flows though whieh sltatc'?
Vs "'\Jh} W ril: HEIIL...I].’ B) punjab !
25, Ayhat’s the capital of Br#
L.’\ Rrasilia }5 Pﬂulc} C]Ejﬂde']' irc
% .. g CEnrl [ndian Securt y Forces (CISF) came into existence : : :
% %\1 969 1963 in which year?
At C) 1975
77. "r‘i Ihich of the iolinwmgm oyisTod p ¥ nd — el ! T )
4 w “" bl -
A) USA B) Japan hemfn \ited Nations : ="
- ‘ H
74, When 15 wyworld tﬂ.ﬁh—ﬂd Wlﬂhmtgd? -

A) 15* Oclo er

o
W hn was the first Pfﬂ‘iid:m of India?

A) Jawahar Lal Nehru
€) Rajendra Prasad

{0 i ;

/"‘?JI. : ::‘:‘ ll:!ﬂ}r times was Mahatma Gandhi m

| 5 times
\ . B]dnmﬂ & ‘*'_'.-. - S0 T
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g ' REASONING U ad h*
~ e
pircction for question nos, 81 to 85 - 4 Vo, T
If in a certain language, ENTR}' is coded o ;. '
correct code for each of the given I-Hﬂrd'.: “ 13345 and STEADY s coded as 931785, then state which is the
K &
¥ _A) 95616 B) 196247 Yy : ~3
L 3 C) 352123 ) 312723 .
§2. NEATNESS
A) 25196577 '@,34?32199. ) 21362199 " D) 21823698
83 S : ) bt L]
ZA) 918731 B) 954185 . ©)814195 2

D) 614781 -

§3. ARRES’ | : | B Ny
M /31?44193 C) 166479 D) 745194

85. ENDEAT
A) 524519 B) 174189 ¢_C) 128174 . D)l124179

Direction for question nos. 86 & 87 :
Choose the best alternative as your answer.

A sheedlways has :

A) Laces B) Leather Desi
el W el WM“F ! &M%

~ A BT a}rs has: |
B) Animals

]

If today is a Sunday, then what day of the week will be the 426" day ﬁmmﬁaﬂ
A) 51 B) 52 C)53

89. If 23" February 2011 is Tuesday then what day of the week will 25* March 2013 be?
& A)Thursday B) Saturday i

90~ Acgontmodation ; Rent : : Journey : 7 A a5
: {) Expense B) Octroi - C) Freight
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wianniy, AINHeR
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U, Hdlrm:-uln".mm B St
e e N
-t All ¢ ‘
Concluslons:
s,
1. All s are ea . ‘
) A) il only conelusion | follows
') if neither 1 nor 11 follows
: nenisi
_ g All apples are mangoes:

Il grapes are apples.

“Conclusions:
I, All grapgs arg mangoes. 11

" ¢ A) if only conclusion I follows j
P ) if neither 1 nor 11 follows
S+ 03, Statgments:
A Soine moons are stars.  Some stars are planets.
' " Conclusions:
! I Some moons are planets.
fc?rf ¢ anclusion I Rallows
' iy
94,  Statements:
All dolls are ghosts, Vo olels ve ows
Conclusions:

1. Some ghosts are balls.
' A) if only conclusion 1 follows
) if neither 1 nor 11 follows

9s.

Statéments:

Some queues are rows,

Conclusions: =

. L All circular are queues.
~ A)ifonly conclusion I follows

. 4, C) if neither I nor II follows

‘. ﬁmh nos. 96 to 100;

No row is a circular,

a4 1 and 1T
¢ numbere
) canclusion from common
08 1 i ,er'd,'hll‘ bf " mm"cﬂ‘ f the
L pivection for question o ,“I - it 0 ~“"'"mﬂ::u ihey §¢€ m;bi-iﬂn.w logically follows
{ In auch quesiion Balow 07 L anix o be true O L o vep, conte " Mo ts
) comvider the §IvH ' SCCOL dacide whICH g ﬁ (ats Mats
;1 e """""""-"'l‘:';,::r mmmmb' kmawn fok b |‘|HI 1'Ly p—ﬂ'b} -
\ i |

All mungoes arc grapes.

T e DA G

. fqﬁr.aﬁan carefully and answer the Jollowing questions.

1. Some cals are -‘],"18'" il
HI] if only conclusion
D) if both 1 and 11 follow

1.-:{) (\-.--n I
Qfa-qﬂ‘ ni;::-u-a -HH MH"‘"‘

on 11 follows

' onclusi
B) if only 0 11 follow

D) if both 1 and 11

I1. All plnﬁds are mMOORS,

B) if only conclusion II follows
‘D) ifboth 1 ﬂﬂdl}follow
bat Le

g wr Drild -

I1. All ghosts are balls.
B) if only conclusion 11 follows -
D) if both I and 11 follow 6‘1.1 R

Lo o
@% 7% % Jo'

I1. Some circulars are queues..
B) tf only conclusion II follows
D) if both I and II follow



How many distinet routes exist Somt B0
0

: | T ﬂl lm \ |

D) s ”

C) S
D) No place loses contact with P
100. 1f the number of places to which a place is connected di idered importance
wh:;h of the following places if of 1'||li:|gh.1.:$t1isrr‘f;:::t:nrt;tm:.;:*.‘1 i e it
A)Q B)P C)R d)8

Direction for question nos. 101 & 102 :

‘ind the missing character. £\
, ) sy

101.|C B D s
H D K E (u o :
_ o ;
o L v ? ; X
s
A)P B) W T D)0 {? (
- rJ' T {'L ‘__{,__-
19 23 29 31 9 {’L i .:w

i :
C) 40 Y D) 37 /1;:4"

\Lxu
whal u.u:.dlsmbuwmthsmmﬂﬂh

A) 35 B) 41

John mwh_?rmbw&nfshﬂtmdmmm: pig¥.a M4 ulsd s
final positions of John?
)Sm B)7m C)lm D)6 m r :

. When a watch shows 3: 45, the minute h

direction does the hour hand point? ._
B) West C) South@ W = D)N: .

¢ (D)

A) North-west

g.l/l;d the wrong number in the series. | Lot C* N"'?“IM >
5‘1-‘100‘12‘.} 144, ,!_0‘(96 C)sl e
A) 100 . | / Pﬂ:ﬁ?

ot estion nos, 106 to 110 : o J o
: uﬁ:‘:’o :;lj :iw: information carefully and answer the following questions.




167, How is G related 10 p? i
g) Father

A) Brother

1 108. Who is the gmmif'-t'-hff ol

; A)B

..-v-”""'_
g9 Ftow is A relat
e A) Daughter-in-ia%

llﬂ: -f 7D related 10 F?
- A) Son .B) Brother-in-law

Direction for question nos- 111 to 115 :
Study the given information carefully

L" "
B)F

H are sitting around

A.B.C,D,E, F Gand
d to the leftof AW

the right of F. C 1s secon

owing combinations is in order?

111. Which ofthe foll
B) FGH

A) GCD

[12. Who is third to the right of H?
A)G B)D

113. _Am is to the immediate right of A?
VATE N RS e

114. Wihﬂhﬂ'spnsiﬁmwﬁhrmpectm B?
) Fourth of the left okl vy m: e

115. Who is to the immediate left of G?
AH B)F

ey quﬂﬂnn nos. 116 to 120 :

and answer the following

a circle facing the
ho is secand 1O the

MNot
) Bmthcr-m-lnw D) Mo
) None of these
c)D
C) Grand-Daughwr D) Sister
- 1.-::\:-\-
C}"Gmnd-suh D) None of these
k_,_fr"”'
questions.
9
e, B s second o the right of D who i5 8
left of F. G1s third to lhcﬂght of E. 2

C) EBC

C)C

O F

i

Ty hddtypieh

C)D

related

D) HFE
D) Data inadequate
D) Data inadequs

D) .Fifth o3 '

D) Data ina



QUANTITATIVE APTITUDE oAy

e (% ;
{21. Ina race of 200myA can beat B b . —
: y 31lm and C by 18m w5
A)22.75m | m. In a race of 350m, C will beat
Mgin ©)195m - D]B o

122. 1f an article is sold at 19% profit instead of 12%
I'li'lﬂﬂ?

A) Rs. 1505 B) Rs. 1500 C) Rs 1560 D) Rs 1490

profit, then the profit would be Rs. 105 more. What is the cost

123. 3 chocolates, 4 biscuits and 5 cakes : - ’
(in Rs). i?st Rs. 34, 6 chocolates and 8 biscuits cost Rs. 38, Find the cost of cach cake

A)6 B)5 C)4 D)3

—

124. The loss incurred by selling 20 m of a cloth equals tﬁn cost price of 5 m of that cloth. Find the loss percentage
A) 33.33% B) 40% C) 25% ' D) zu? ¢ i

125. A man can row downstream at 18 kmph and upstream at 10 kiph. Find the specd of the man in still water and the
speed of stream (in kmph) respectively. ,
A)13,3 B) 12,6 C) 15,3 D) 14,4

126. In what ratio must a mixture of 30% alcohol strength be mixed with that of 50% alcohol strength so as to get a
mixture of 45% alcohol strength?
A)l:2 B)1:3 C)2:1 D)3:1

127. The first term of an Arithmetic Progression is 22 and the last term is -11. If the sum is 66, the number of terms in

4. the sequence are: —— = AR
10 T vHi ‘D8 - A
" Find the circumradius of a triangle whosc sides are 6 cm, 8 cm and 10cm. (inem) 2*&{
B) 10 )15 D)25 A S
Which of the following numbers will completely divide (461 + 462+ 463 + 4647 - 3 R
A)3 - B)10 on : D) 13 b

130. Quantity A varies directly with the sum of the

how much does A increase?

A)2 B)4 06
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A i s, 131 to 135 : 'a rmation ad
"nﬁ;:;:-:. l::,,,q;::; .:nr::amcjw give maximum marks in each subject. On the basly of below info

answer the following questions. 5
. ‘nglish Hindi Computer
(Nmes ot | it | ooty | puien | vt | WOl | SO G
T_A %0 50 90 60 70 %0
g L 100 so-(D] 0 40 80 70
— 90 (";’;- 60 ¥ 70. 10 %0 a0
2 80 65 80 80 60 60
= 80 - 65 85 95 50 90
3 79; » 75 65 gs |, 40 60
g o s 33 50 77 80 80
" fier decimal

131, What are the average marks obtained by all the seven students in Physics? (rounded off to two digit a

Q{ A) 77.26 B) 89.14 C)91.37 D) 96.11
13 _ The number of students who obtained 60% and above marks in all subjects is? f? 0
A)il _ B)2 C)3 D) None 6> o

r‘:.j

o ' .
¢ 3 obained by i all thesix suct? hs
134. In which subject § i N7 o v -ﬂ";a_-.ﬁ ) 91.449
e i ject is the nve;fcrmtag e best” 'h-‘_ﬁ i = al ﬂ
emistry C) Phsics . D}rH' L b
| istory — ===
%h;; r:-uth-:: overall percenage oy ;7 ‘f jf “
2.5% B) 55% C) 60% _Dy63%
136. The HCF of two numbers each havi | .
: g three digits, is 17 eir LCM i |
i : agh:wn! digits, ialgzalnd their LCM is 714, Thelg;u of the numbers wi
_ 731 |

1335 %hich ainong 21435 11 ool
SO A)2n among 217, 317, 4™, 6% and 12115 largest? -

- 9112
138.\To write al) D) 12

the page numbers of n
book, a book, exactly 136 times digit | has been .

B) 195 C) 210 .
atotal sum of Rg 50,000 at
A 5% simpl 7o
& :flch 18 years both of them get qfl;mm'““w;mm in the
Present sum iy the g their present
W ORs. 24000
- 940110 4 days theq earn: \
v R

ewyEy
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; 148. A man walking at

140, 11 20 men can build s wall uzmmumu;nmmhﬁﬂ-mm-hhl
A) 140 metors 1) 448 meters C) 105 meters 1) 70 meters

142 In how many ways can 4 girls be sested on |0 different chairs in & row?

A) S040 1) 3080 C) 1080 D) 720
L
143 There arc 10 potnts in a plane out of which 4 arc collinear Find the number of tringles formed By the potsts a8
VEMCea
A) 120 B) 116 C) 140 Dj 20 G

b
144. The average price of 10 books is Rs.12 while the average price of 8 of these books is Ra 1175, Of the romaining
mhnhthh-prudfmMh%mh;#mm.ﬂiﬁwmﬂh |

books? . - + N A ;
A) Rs. 5, Rs. 7.50 B) Rs. 8, Rs. 12 #‘; lﬁ.lﬁip . D)RsiZRa 4 -
% \ ; !

145. The average age of a family of 5 members is 20 yéars. If the age of the youngest member be 10 years then what
was the average age of the family at the time of the birth of the youngest member? . AN
A)135 Jal Ofl 1 D . A

1 . - 4 ’ " -

146. Three partners A, B, Cstart'a busincss.

B’s capital. If the total prof
147. Inhowm

A) 190
the rate of 5 km/hr crosses a bridge in 15 minutes. 1he ie
A) 600 t (

——
-

lé;‘-h parallelogram has sides 30 m an
£ A)136 13) 236

_:* S ‘mn 2000 amounts o Rs. 2 o
_ﬁﬁ_ A) 8% oo B 125% ]



